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This question paper booklet contains FOUR sections. Section ""A'" Language contains 25 questions of
2 marks each. Section "B" Mathematics contains 50 questions of 3 marks each. Section '""C'" General
Knowledge and Section ''D' Intelligence contain 25 questions of 2 marks each. In all, the paper
consists of 125 questions for a total of 300 marks. Answer all questions.

H0ze oo 2 owe 30 Aaren ( 150 ddaren).

Duration of the test is 2 hours and 30 minutes. (150 minutes)
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Candidates are required to choose any of the following 13 languages : Assamese, Bengali, English, Gujarati,
Hindi, Kannada, Malayalam, Marathi, Odia, Punjabi, Tamil, Telugu or Urdu, while applying.
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Question paper booklet for those who opted for English or Hindi will be bilingual (i.e. in English and in
Hindi).
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Questlon paper booklet for those who opted for any of the specified languages, will be bi-lingual, in the
language opted by the candidate and in English.
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Questions in Section “A” are specific to each language. They vary from language to language. They are
not translated from English. They are to be attempted in the language opted by you in your application form
and indicated on your Admit Card. They will be evaluated with reference to the answer keys of the specific
language opted by you. If attempted in any other language, you may lose marks.
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11.
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(a) Seorses (i) S0
(b) Sorer (i) RSHs0
(c) SFSo (iil) Ss0

HBRDH DHPEHRD A0 ?
(D) @-(@); (b)-(iid); (c)-(i1)
2 (@-1); (b)-(i1); (c)-(iii)
3)  (a)-id); (b)-(1); (c)-(ii)
4 (@)-(i); (b)-(1); (c)-(ii)

B3¢3K Hd) DO ToroHod.
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SECTION - ‘B’ : MATHEMATICS

26. What is the fraction that the sum of the shaded regions represent ?

ALy A2
D B

) @ T 3) 1 ) 15

27. What is the weight of two dozen biscuits if each biscuit weighs 4 g ?
(1) 24¢ (2) 64¢ (3) 48¢ (4) 96 ¢

28. Choose the smallest possible 7-digit number that you can form using each of the following
digits 5, 1, 8, 0, 3.

(1) 1310058 (2) 1001358 (3) 1130058 (4) 1000358

29. Sum of place values of the underlined digits in the given numbers is
695281 5348573
(1) 305071 (2) 300551 (3) 305017 (4) 3005071

30. Which one of the following figures is not symmetrical along the dotted line ?

(1) A (2) 3) N (4)

o]

0

31. Which one of the following is not an equivalent fraction of % ?

2 @ 2 3 = @ 1
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26.

27.

28.

29.

30.

31.

Bod &°8S° @) DI FeANEYS (JoD2BD) Prre o) D7D OB ?

ALy A2
D DB

10 1 1
(1) I (2) 7 3) 1 4) 15
28 5330&65 230 4 g ©owd, Body ey YL EOI0S ?

(1) 24¢ (2) 64¢ (3) 43¢ (4) 96 ¢

5,1, 8,0, 3 o &H33rN0D), 8t Bod arAS” 8 7-908 D0 JOTE KT

(1) 1310058 (2) 1001358 (3) 1130058 (4) 1000358

9R2GD DoPgS” Tgrro8s ©oSL F Jende R
695281 5348573
(1) 305071 2) 300551 (3) 305017 4) 3005071

&3 (808 YSH0S®, TP RPLHROTAD B ?

(1) A (2) (3) N (4)

o

0

5
8 808 TAS”, 5 & Eregin 52 )b ?

1y = @ 2 3) 2 ) 19
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32.

Find the area of the shaded part of the figure.

9cm

(1) 161 sq. cm (2) 171 sq. cm (3) 173 sq. cm (4) 163 sq. cm
33. Convert the fraction 15%5 into a decimal number.
(1) 1504 (2) 15.04 (3) 1504 4) 1.504
34. What would be the price of seven chairs, if the price of one chair is ¥ 7642.45 ?
(1) T 53497.35 (2) T 53497.15 (3) T 53499.15 (4) T 53597.15
35. A webinar has three intervals of 5 minutes each. What is the total duration of the intervals in
seconds ?
(1) 1000 (2) 800 (3) 900 (4) 1500
36. An oil tank can hold 60 litres of oil. Another oil tank can hold thrice as much. What is the
total capacity of both the tanks ?
(1) 180 litres (2) 240 litres (3) 120 litres (4) 300 litres
37. What is the side of a cube, if its volume is 64 cu.cm ?
(1) 12 cm (2) 4cm (3) 8cm (4) 16 cm
38. Which of the following numerals are arranged in ascending order ?
(1) 6821, 6812, 6261, 2861 (2) 9075, 7905, 9701, 5907
(3) 10529, 12049, 12509, 15249 (4) 23124, 23213, 21467, 2764
39. Choose a figure that will continue the series in the given figure.
o 6]] o[ e O
L olo 66 oo }
6 O | o) o |
1 2 3 4
(D o ) (2) o (3) 4) o
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32, DBHOS® FroXPE S g3sR) Frroghnd SE0&.
25cm
9cm
(1) 161 sq.cm (2) 171 sq.cm (3) 173 sq.cm (4) 163 sq.cm
33, 155: & 5708 Doy SrEYod.
(1) 150.4 (2) 15.04 (3) 1504 (4) 1.504
34. a8 S0 §S S, 764245 @00, i Sr8)0 S Jos ?
(1) &ow. 53497.35 (2) &oe. 53497.15 (3) &, 53499.15 (4) &, 53597.15
35. 28 JIDE 5 Aoare TIPS B00eddy doedren SOND, ?oézéale)ei's BSEH0 QTP A&
Does ?
(1) 1000 (2) 800 (3) 900 (4) 1500
36. 28 ©onS &ro8S”® 60 litres 073 &0SKORN. HE°E oSS’ Bueses o ) Surdoden Jexg
Badren. ©owd, Bok EroBHe BNBo GO ?
(1) 180 litres (2) 240 litres (3) 120 litres (4) 300 litres
37. DBdureasy 64 cu.cm Ko a8 e 3T, ehedod ?
(1) 12 cm (2) 4cm (3) 8cm (4) 16 cm
38. (806 odS° eb%re [E0ANS® &) Doggen e G &) ?
(1) 6821, 6812, 6261, 2861 (2) 9075, 7905, 9701, 5907
(3) 10529, 12049, 12509, 15249 (4) 23124, 23213, 21467, 2764
39, 2ge2&0 DBINS® SO0 :bzf)z) D[S0 OE 0.
o 9] oo [P O
, ?
V' alag ¢l6  olo |
6 O , o 0 o |
1 2 3 4
()o¢ ()Oe ()lo ()90
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40.

41.

42.

43.

44.

45.

46.

47.

If A+ A + ‘ = 420 and ‘—A=90, then what is the value of ‘?

(1) 100 (2) 200 (3) 90 (4) 120

If the classes for the senior students start everyday at 8:35 a.m. and end at 1:45 p.m. (with no
breaks), find the total duration of the classes.

(1) 4 hours 40 minutes (2) 310 minutes

(3) 5 hours 20 minutes (4) 315 minutes

In 563672, the place value of 6 at the ten thousands place is times the place value of
6 at the hundreds place.

(1) 1000 (2) 100 3) 10 (4) 10000

Anil had 78.6 m fabric which was just enough to make one set of uniform for 12 students.
How much fabric would be used to make one uniform ?

(1) 6.05m (2) 6.65m (3) 6.55m 4) 6.25m

Select the next figure in the pattern :

A<V _
(1) <[] (2) V 3) D>> (4) é

An athlete finishes 400 m race in 48 seconds. How many minutes has he spent in running if
he ran five times on the same track at the same speed ?

(1) 4 (2) 3.5 3) 5 4) 6

Which one of the following are arranged in descending order ?

2 02 2 2 2 6 14 10 4 2
O 357 3 9 3 @ T
7 7 7 7 7 10 13 5 15 7
N R AR ERT @ 3 959 979

What must be added to 2.4624 to get 6.785 ?
(1) 4.321 (2) 4.3221 (3) 4.3226 (4) 4.3229

RAMA /TEL+ENG 10/D



40.

41.

42.

43.

44.

45.

46.

47.

&§3¢A+ A + ‘ = 420 H080% ‘—A=9o @wé,‘ Den

Do ?
(1) 100 (2) 200 (3) 90 4) 120

©86%s> 2AaNE g EHot) S6ricren 8:35 a.m. S8 &S 1:45 p.m. S8 D (H65g S
QTP BL0@) B0 B0 AR Do ?

(1) 4 Kobe 40 Daren 2) 310 ODaren

(3) 5 Koo 20 daren 4) 315 9Dren

563672 S°, H& F© Q%zﬁ»é’a &) 6 B % Jend Hocse Q%Eﬁmﬁ’a &) 6 B D

QAEVNB Sew.
(1) 1000 (2) 100 3) 10 (4) 10000

12 Jerg8o0 aXirda*Sos> SO 2.5 808 2878 IO Pl 0FH 78.6 m © D9
@IS 558 KO, 8 00D Jod HyYHVD EHAIrNoERd ?
(1) 6.05m 2) 6.65m (3) 6.55m 4) 6.25m

&3 (Bod B re30 BB DBLNTOTE LW

A<dY _
(1) <]:] 2) v 3) D>> 4) é

28 Brrsedacs 400 m HoBH0 48 0.06° OB, @8 (675 A0S e STEnS® ok H°Ed
&% HORGS, B ) AL VBT ?
(1) 4 2) 3.5 3) 5 4) 6

&3 (808 adS® DG [ERH0S” @d e o0 EH0k JoBiE d ?

2 2 2 2 2 6 14 10 4 2
D 35 7 13 9 3 (2) 1 1171111 11
7 7 7 7 7 10 13 5 15 17
G o B I8 @ 59 9 979

6.785 Tod@eS 2.4624 £ Jogd SenHdB ?
(1) 4.321 (2) 4.3221 (3) 4.3226 (4) 4.3229
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48.

49.

50.

S1.

52.

53.

Identify the greatest fraction from the following :

2 2 2 22

1”7 137 9° 3

M 5 @ 3 3 = @ 2

In a particular year, 76,43,872 students appeared for an exam. Out of them if 42,37,602 were
girls, how many were boys ?

(1) 43,06,270 (2) 34,56,270 (3) 34,06,270 (4) 43,05,370

Which one of the following is the incorrect option ?

< 1 y
< >

Area=240 sq.cm b

(1) 1=19.2 cm, b=12.5 cm (2) 1=16 cm, b=15 cm
(3) 1=54 cm, b=5 cm (4) 1=32 cm, b=7.5 cm
. 6.3.4
Solve : 2 5 5
3 3 5 2
I z @ 3 3) 3 4 =

Select values of m, n to make the statement true.
127x15=(C_m x 15+ (_n _x15)

(1) m=100,n =15 (2) m=120,n=15
(3) m=15n=27 (4) m =100, n =27

How many parts of the given figure should be shaded to represent 3 ?

IIIIIIIIIIIN

(1) 4 (3) 8 4) 6
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48. Bod IS &8 DS HHHND JoWE DKW

1y = @ 3) = 4 =

49. a3°3°8 K)oééébémé% 76,43,872 &)mggaen 0855 éﬁesémgd). ©0c0e® 42,37,602 @ngm@é,
@?Jz)ow@oé 0o0d ?
(1) 43,06,270 (2) 34,56,270 (3) 34,06,270 (4) 43,05,370

50. & (80O &8S° HTHE 5 AR QB ?

< l »
< >

B og0=240 sq.cm

“——o—>

(1) 1=19.2 cm, b=12.5 cm (2) 1=16 cm, b=15 cm
(3) 1=54 cm, b=5 cm (4) 1=32 cm, b=7.5 cm
51. 20 00H08 : §+%x%
3 3 5 2
(D) 3 (2) 3 (3) 3 4) 3
52. &8 argpgooi K)e‘égzﬁmﬁoofp m, n © JeNIO o)éugvgao&.
127x15=(_m__ x15 +(_n__ x 15)
(1) m=100,n=15 (2) m=120,n=15
(3) m=15n=27 (4) m =100, n = 27
53. migald DES® 3 D Erhosns ) grTe JoT ?
(1) 4 2) 12 3) 8 4) 6

RAMA / TEL+ENG 13/D P.T.O.



54.

SS.

56.

57.

58.

59.

60.

61.

How many acute angles are there inside the given figure ?

(1) 4 (2) 6 3) 5 4) 7

128400 pens are to be packed in cartons with 150 pens in each. How many cartons will be
needed ?

(1) 856 (2) 805 (3) 846 4) 876

Prisha weighs 42 kg and Kyra weighs 39.5 kg. What is their total weight ?
(1) 82500 g (2) 8250 g (3) 81500 g (4) 8150 g

Identify the angle created by the minute hand and the hour hand at 2:30 p.m.
(1) Acute (2) Obtuse (3) Straight (4) Right

A dealer purchased 50 tables for ¥ 4570 each. Nine tables got damaged in transit. He sold the
remaining tables for ¥ 5000 each. Choose the most appropriate statement for this case ?

(1) He was able to recover the cost of the damaged tables.
(2) He made a profit of ¥ 25000.

(3) He incurred a loss of I 23500.

(4) He made a profit of ¥ 23500.

[ am a five-digit even number. I have 9 at my tens place. The digit at the ten thousands place
is three less than the digit at the tens place. The digit at the hundreds place is half the value
of the digit at the ten thousand place. The digit at the thousand place is double the digit at the
ones place. Who am I ?

(1) 68494 (2) 61392 (3) 64391 (4) 68394

The product of the LCM and HCF of two numbers is 322. If one of the numbers is 23, what
is the other ?

(1) 7 2) 14 3) 18 (4) 46

What would be the water image of | SEARCH > ?
(1) | SEABCH > (2) | 2EWBcH >  (3) < Houvas (4) | Houvas
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54.

5S.

56.

57.

58.

59.

60.

61.

9RGD VBENS” A o) Eerenamon ?

X

(1) 4 (2) 6 (3) 5 4) 7

eu%"’zyé& svgzéaé'a 150 %)zéogp 5"&)0})26 128400 _"ojéﬁatle)é) Q0N I8 Qbisvgzgo XIS ?
(1) 856 (2) 805 (3) 846 (4) 876

(222 2080 42 kg Ho8axn Soe 2800 39.5 kg. m@@@ 0SB0 230 ?
(1) 82500 g (2) 8250 g (3) 81500 g (4) 8150 g

2:30 p.m. ¢, Adware Hogw Hdo Kobe e Dy Eeadud HGowod.
(1) oo (2) &8 3) I (4) oo

28D S0E S 28 . 4570 0% SfPen VI, Poredins” s e S BEJtarow.
DAOD B o edd w88 6. 5000 0% eIy, S DOBE)RVDH  ITH  argagd
X080 ?

(1) BEFod B S S8 sty FPocsOrd.

(2) e 6. 25000 o e Fomrdd.

(3) @8t 6r. 23500 o $3 Forr.

(4) e 8. 23500 o eeedore Poced.

I8 0C0-908® DO H0gg. HEHO Q%:ﬁm?s 9 &Hd. DO o Qbémé’& &) @08, HEHO
Qﬁémef’ &) ©08 TARI SIS S8, Hoke anééms{’ &) ©08 DO N9) Qbézﬁmf’ &) ©08
DeNHS? Dsdw. Fe> Qvéméﬁ &) ©08 8Y gvzémé% &) ©O0S S08 Bodky Bew. ©oNd

I3H8 ?
(1) 68494 (2) 61392 (3) 64391 (4) 68394

Bo éoaag@ LCM 800 HCF © ®2)0 322. ©0S® 8 éoaog 23 ®ond, &°8 éoaog

e ?
(1) 7 (2) 14 (3) 18 (4) 46

SEARCH ) G308, e Sozasnd 8 ?
1) | seascn > @ |[ewwen > 3) (rowvas | @) | wouvas
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62.

63.

64.

65.

66.

67.

68.

69.

70.

Which one of the following options is incorrect ?

(1) %:o.4 (2) 1.147 > 1.039 (3) 5.862<59 (4) 321 >3.222

Fill in the blank with the correct option.
CCCXC + LIX = .
(1) CCCCXLIX (2) CDXLIX (3) CDCXLIX (4) CDXXXXIX

Rounding off 7348561 to the nearest hundreds is
(1) 7348000 (2) 7348600 (3) 7348560 (4) 7348500

What should be subtracted from 3 million to get 1765498 ?
(1) 1,234,602 (2) 1,234,502 (3) 1,324,502 (4) 1,234,402

Shreya has 32 red pens and 56 blue pens. She wants to make packs of equal number of pens
out of them in such a way that each pack has pens of only one colour. How many pens would
be there in the biggest pack ?

(1) 4 2) 8 (3) 16 4) 12

If the cost of fencing 1 m is ¥ 215, then find the cost of fencing a park with length
45 m and breadth 23 m.

(1) T 29240 (2) T 25340 (3) T 29440 (4) T 29540

The area of a triangle whose base is 12 cm and the height twice the base, is
(1) 288 sq. cm (2) 144 sq.cm  (3) 289 sq. cm (4) 298 sq.cm

Raman started a journey 4 hours before Sameer. If Sameer started his journey at 2:15 p.m. at
what time did Raman start his journey ?

(1) 09:15 hours (2) 11:15 hours (3) 10:15 hours (4) 14:15 hours

Seventy six lakh four thousand eighty three is written as in the international number
system.
(1) 7,640,083 (2) 76,483 (3) 760,483 (4) 7,604,083
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62.

63.

64.

6S.

66.

67.

68.

69.

70.

&3 808 TAS® DTHO 570 DDNEIND J)E & ?

(1) %=0.4 (2) 1.147 > 1.039 (3) 5.862<59 (4) 321 >3.222

e R HTD 0VYYEXE® B,
CCCXC + LIX =
(1) CCCCXLIX  (2) CDXLIX (3) CDCXLIX  (4) CDXXXXIX

7348561 L0 538 S0 dHdoHod. (Rounding off).
(1) 7348000 (2) 7348600 (3) 7348560 (4) 7348500

1765498 o758, 3 wOaNY 008 Jod EFO ?
() 1,234,602  (2) 1,234502  (3) 1,324,502  (4) 1,234,402

B 650968 32 SO W0 Do 56 5O DR &), D (O @T’S?,&DGS'B 28 S0k ’w@&o@s
o) FFEYS® HHrdHPD DNOD JoFOWE A ©8 DG FFELS® ) VIO ?
(1) 4 2) 8 3) 16 @) 12

1 m %03 30X0e% S8 Rs. 215 @ond 45 m e doxn 23 m BesenY &) 28 B
08 BoYOE dod 20y ©HSE0O ?

(1) Rs. 29240  (2) Rs. 25340  (3) Rs. 29440  (4) Rs. 29540

12 cm e @ 8050 7 J& SrEHns ToBoSTD, & [Beesin A3y, FFPegw
(1) 288 sq. cm (2) 144 sq.cm  (3) 289 sq. cm (4) 298 sq.cm

208 [HOITreaneS® Ko 8 Z08 4 ot H0E) ToRS 200X0eD Bord. 28 3% DG & HoXeadnd
2:15 p.m. & FPE0ROWD, TP S (RO I [FPEodomrcd ?

(1) 09:15 do.  (2) 11:15 0.  (3) 10:15 So.  (4) 14:15 fo.
©OSTHOH Hogrg AEES® BB W) ©FO D JO KB By @,
(1) 7.640083  (2) 76483 (3) 760483 4) 7.604.083
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71.

72.

73.

74.

75.

Instructions For Q. No. 71 - 75 : The following graph represents the activities taken
up by Grade V students in a particular school. Study the graph and answer the following

questions.
Student Activities
25
2
S 20
o
2 15
]
= 10 7
o
o 5 égé
P4
; _
Debate Theatre Swimming Dance Painting
Activities
The number of students who chose Painting is more than the number of students who

chose Theatre.

(1) 1 (2) 2 3) 3 4) 4

What is the total number of students in Grade V ?

(1) 80 (2) 83 (3) 85 4) 84

How many students were there in the 2 least popular activities ?

(1) 25 (2) 24 3) 28 4) 27

How many students chose Dance ?

(1) 16 (2) 18 3) 17 4) 19

How many more students chose Swimming as compared to Debate ?

(1) 6 2) 8 3) 5 “4) 7
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2esHen 1 71 - 75 HSK [HH0 1 8 B0 [ w8 PSS 5 O S8658 Jorgden BHEH

SEgEErO rDYHOB. PPy HEHINTD Bod [HEO SHrerdbigod.

nggam S"Cfgté?ﬁj"&)
25 :
& 20 77
2 . 77
o 19 7 . ; 7/
%10 — . . .
B 7 7 . 7
5 . ? . ?
7 7 . 7
0 7 7 7
PP @HTA0I L Dydin  D|SSpdin
SrdgEaTe)
71, @J5005030% §%0) dogdo S0, OB JEND  dergdoen
Ooﬁoéoauéo.
(hH 1 (2) 2 3) 3 4) 4
72. 5 & 36658 Jrgloo InGo D088 Does ?
(1) 80 (2) 83 (3) 85 (4) 84
73. @8 S50 Pdgind) Bow SPEYERraS” Jod H0d Jergdrena) ?
(1) 25 (2) 24 (3) 28 4) 27
74. doed od Ay SVRMALICANIY Qoéoéoa@gvdo ?
(1) 16 (2) 18 3) 17 4) 19
75. oAgarding” PO S Jod 08 JEND Jgdren JoBIBT)E ?
(D) 6 (2) 8 3) 5 4) 7
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SECTION - ‘C’ : GENERAL KNOWLEDGE

76. In which sport is the term 'Knock-Out' used ?

(1) Archery (2) Boxing (3) Golf (4) Billiards
77. The reading above on Richter scale can cause severe damage.
(1 7 (2) 6 (3) 5 4) 4

78. Which bacteria is responsible for the formation of curd ?
(1) Vibrio Cholerae (2) Lactobacillus Acidophillus
(3) Streptococcus thermophillus  (4) Bacillus radicicola

79. Which one of the following statements is true about fossil fuels ?
(1) They are renewable resources.
(2) They are found within the top layers of the Earth's crust.
(3) They are formed over the course of ten years.

(4) They are the remains of once-living organisms.

80. Where did Buddha attain enlightenment ?
(1) Lumbini (2) Bodh Gaya (3) Sarnath (4) Kushinagar

81. Who invented electric bulb ?
(1) Thomas Alva Edison (2) Alexander Graham Bell
(3) Marie Curie (4) C.V.Raman

82. Pick out the incorrect statement.
(1) Gravitation affects only part of the earth.
(2) Gravitation pulls iron.
(3) Gravitation prevents things from floating.

(4) Aeroplane do not fly in the gravitational field.

83. Where is the famous Meenakshi Temple located ?
(1) Ujjain (2) Varanasi (3) Madurai (4) Rameswaram
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76.

77.

78.

79.

80.

81.

82.

83.

285 ‘C : Jorse grdo

Q) BAS® TE-000E @ D) GHCBTNYE ?

(1) deodesg (2) aw%boﬁ 3) ﬁ?’ei) (4) Q@ng)
885 w0 e 85) Q89D B0 B B WrDLOB.

(1 7 (2) 6 3) 5 (4) 4

DB SOXPEHLE SPEETHH ergBBo® B ?

(1) OB gooe (2) o8PRYD SREDYS

(3) 29E°ES 685&3395 (4)  2rRR 0°BJ8 e

302 @oGTe (50 S (Bod TrgageS® & Jezbw ?

(1) 3 HAEB0HEHS Lureren.

(2) 2rridH)D) csdSOIN P OOV
3) @ e K)Oéé{)éme)@s BSOS OD.
4 ad 2B e £ edFare.

20608 gfﬁsécﬁ)&é&é EORHD ?
(1) 008 2) &% Ko (3) B @) ©R566

@@%75 eoei)zﬁ) el R ?
(1) 0 eog IS (2) @9@(;06@5 (50 23S
(3) b grgd 4) 2. 9. oS

005°Q g oS R,

(1)  FOSHEgEdes SHoM 2 GBE) §°08 rrdnd [Herdstin Sod.
2) mda@ségs@ ARV errHXD.

(3) HHEEden SHHOD Bt oG IGROG.

(4) Jdrred HSEgEden SSHNS” JNSD.

(B D8 3000 5.6 08 ?
(1) x%goooi) (2) SeTe (3) &3 (4) U!ifnéséo
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84. What process is involved in Cloud Seeding, which is a technique that induces rain ?
(1) Adopting an agricultural practice that depends on clouds.

(2) When water vapour in the atmosphere cools and condenses around a particle of dust or
salt.

(3) Making clouds and placing them in the sky.

(4) Scattering clouds to form seed like structures.

85. Which part of the Earth supports its biodiversity ?
(1) Biosphere (2) Sanctuary
(3) [Ecosystem reserve (4) Biotic community

86. What do tissues help in ?
(1) Faster development (2) Division of labour among cells

(3) Higher reproductive potential (4) Body strength

87. Who was the Chief of Army during the Indo-Pak war, 1971 ?
(1) General PP Kumaramangalam (2) Field Marshal SHFJ Manekshaw
(3) General JN Chaudhari (4) General KS Thimayya

88. Salman Rushdie won the Booker Prize for which book ?
(1) The Satanic Verses (2) Midnight's Children
(3) Fury (4) Shalimar the Clown

89. Which Vitamin deficiency leads to bleeding of gums, slow healing of wounds and aching
limbs ?

(1) Vitamin A (2) Vitamin B (3) Vitamin C (4) Vitamin D

90. Which State / Union Territory is Nanda Devi located in ?
(1) Himachal Pradesh (2) Jammu and Kashmir
(3) Uttarakhand (4) Uttar Pradesh

91. What does white colour in the Indian National Flag represent ?
(1) Sacrifice (2) Peace and Truth
(3) Prosperity of life (4) None of these
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84. HSI0D 5S)B Vo 56 VBN BewLHS® ) DB ook ?
(1) HErop SEroodsd s Hddan HE8D JoBs e
(2) FEHCERNST B SGD (P BS Gy Lo P MEIBOBIE
(3)  DHroD BOTPERY eISEINS® GoTO®
(4) Dorodn BEHOBOSE B ST @5TEH0SE° ISR

85. e G O rrris BdZIGERNDE EEYED ?
(1) &5 FPesdn (2)  ersorteagin
(3) orgdden Besdg (4) 20035°¢38 HHoTrw

86. Sevezrer0 B8 &8k ?
(1) Br5HosRHd e )B8
(2)  Seasono G B DeesoBd
(3) EPD 0T BNB AELHNHE
(4) %865 48

87. 1971 &° 228AD 272888 aGHne® D0 GINE), @HS0 D ?
(1) B|ISS P.P. S2550550008%0 (2) S &S SHFJ Sra8ar
(3) |/ISS T.N. 3°%58 (4) 2ISS KS &oaxg

88. Jo7 B (@D @ DYSQ0DL 2088 928 Rensirmmd ?
(1) & 0078 BT (2) DERS) DS
3) rgd 4) OrE S S

89. & OWS S*Hdw Hed OG0 BEL00 508, PoXdRVE O HoDHE 8oy 5°¢ c“o"’o“aoyen
g ?
(1) bR A (2) LS B 3) A C (4) S D

90. o TYRN/Eo(E DS PP0B0S® HowB GHE ?
(1) SdrseS (HBs (2) ety SoBoXw EB5
(3) S0l 4) &35 HdT

91. 0D erB0N HEPELNS®Y Bens) S0 BA LPROE ?
(1) es0es (2) =08 HdoX éeégm
(3) & DS (4) BOHS® A 5o
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92.

93.

94.

9s.

96.

97.

98.

99.

Which classical dance form is named after the village it originated from ?
(1) Kuchipudi (2) Kathakali (3) Bharatnatyam (4) Mohiniattam

What is the major source of fresh water in India ?
(I) Ocean water (2) River water (3) Pond water (4) Ground water

Name the holy book of the Parsis.
(1) Bible (2) Zend Avesta (3) Quran (4) Guru Granth Sahib

Where is the United Nations Headquarters located ?
(1) Vienna (2) New York (3) Paris (4) Zurich

Which sweet is deep-fried, dipped in sugar syrup, round shaped and usually orange
in colour ?

(1) Gajar kahalwa (2) Rasgulla (3) Bhakarwadi (4) Jalebi

Who has won the Sushila Devi Literature Award for the novel "Things to Leave Behind" ?
(1) Kanika Mukherjee (2) Ram Suri
(3) Namita Gokhale (4) Rita Chandra

Pick an example of water pollution.

(1) An oil spill from a large ship

(2) Animals walking along the beach

(3) Drinking water out of a plastic bottle
(4) Gasoline in a car

By what other name is the Water Cycle known as ?
(1) Water movement cycle (2) Air cycle
(3) Hydrologic cycle (4) Tectonic cycle

100. What is meant by seed coat ?

(1) Hard cover around the food stored

(2) Hard cover around the baby plant

(3) The protective outer coat of a seed

(4) Hard cover around the roots of the plant
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92.

93.

9.

9s.

96.

97.

98.

99.

&) POREPONE HYBEHNHL T Lre [P D WS ?
(1) ErdH& (2) 855D (3) PSSTraghn  (4) DrEr eddw

PeESBINILD 0D A Hgg HHK B ?
(1) S2ESH A (2) DO D (3) BODO A (4) GGy 2R

00 DS (ogo BB ?

1) B3OS 2) BB () wod ) 6 [oes F3reS
CIBE JAS) DS SOLOON0 I B SO ?

(1) Dossar (2) &rgorrly  (3) 69 4) 065

Q Do HrIS® FHEO0D0E, BHO SorHES®, KHo(EBHmmT B0 HOWES FPHELNS® Hosed

&OCVOS ?
(1) svgées KP@S (2) CSKngg (3) 285 H& (4) 2288

“BoR) & OF D08 3 HHeL waer B AErds HEJY, S0 ReEBBBI ?
(1) 8z dwpd  (2) oed &rd (3) e A8 (4) & SolE

QA SPVHLRNDE) 28 BEFIPGEIRD JOUIE .
(1) ¢ e 008 Bodw wOAVHE

(2) DD a)c‘gozé 23060000 DBOTH®

(3) 8 i3S 0B A [BrHey

(4) 5°5S* PE e DB rRoLHS

Q H08° V& G W(Eo I e ?
(1) des Hosed S|Edw (2) ™ HEdw
(3) oS SEhw (4) BsIE BEIW

100. & S (seed coat) esdrR ?

(1) &S Jogo wotw ey (ﬁ%ﬁ’ S (2) JIJwode o4 ) ﬁ%? e
(3)  IB1Y ererg Sged P (4) Bew @@é@ o ) 15¢3 S
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101.

102.

103.

104.

10s.

106.

107.

SECTION - ‘D’ : INTELLIGENCE

Which of the following option is an odd one ?
(1) PQRS (2) LMNOP (3) BCDE (4) FGHI

If 35 out of 70 people are diabetic, which figure will depict the diabetic group ?

(b) (c) (d)

(1) a (2) b (3) ¢ 4) d
Figure 1s embedded in one of the four alternatives. Find the alternative which contains
figure as its part.
(a) (b) (c) (d)
(1) a (2) b (3) ¢ 4) d

Fill in the blank with one of the options given below, which is in line with the sequence in the
question.

PUE, QVE, RWG, , TYI

(1) SXH (2) TSQ (3) ABN (4) STY

If GRAIN is related to WAREHOUSE, then Water is related to .
(1) Estuary (2) River (3) Canal (4) Dam

Choose the correct alternative.
Smoke : Pollution :: War : _?
(1) Peace (2) Victory (3) Treaty (4) Destruction

Replace the question mark (?) in the given series.
mm, OO0, qq, SS, ?__
(1) w (2) Ss (3) UU (4) rr
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101.

102.

103.

104.

105.

106.

107.

285 ‘D’ 3926w

&5 (806 TAS° T &HY0 2O ?
(1) PQRS (2) LMNOP (3) BCDE (4) FGHI

28 3% 70 008S° 35 2086 ORI TR 0D, i Bod TAS® &) VSHH Koo
786 (100 DRI redpod  ?

(a) (b) (c) (d)

(1) a (2) b (3) ¢ 4) d
DS &8 e AENINOES® &8 70 N0 BHENTE). @ONS o) D\ )
SONDE® HBOLOA.
(a) (b) (c) (d)
(1) a (2) b (3) ¢ 4) d

DS @Fedd 00000, A0 HDYSOS® Lo @ VI FrBowod.
PUE, QVE, RWG, . TYI ‘
(1) SXH (2) TSQ (3) ABN (4) STY

28 3% GRAIN 936 WAREHOUSE &° H0e0¢5%0 ), WATER 936 BA8° 502006550080)6.
(1) ESTUARY (2) RIVER (3) CANAL 4) DAM

B NELV QoS 0d.
P sw»ﬁgép 5 oi)ocgm 7?7
(1) =oes (2) 230w (3)  ad)ocsw (4) QIO

D) BES® (2) L HOPH I8° Lrdod.
mm, OO, qq, SS, ?
(1) uu (2) Ss (3) UU 4) rr
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108. There are four buildings in a residential complex A, B, C and D. Each one is of a different

height. D is only shorter than B. A is shorter than D and C. Which one is the shortest of them
all ?
(1) A (2) B 3) C 4) D

109. What comes in the place of question mark (?) in the following number series?

110.

111.

112.

113.

4, 12, 36, 108, 324, ?
(1) 520 (2) 475 (3) 680 4) 972

Two positions of dice are shown below. Identify the number at the bottom when the top is
|5V ?

""EI."

(1) 3 (2) 2 (3) 6 4) 4

R is K's sister. P is K's brother. Q is T's father who is P's brother. H is K's mother.
At least how many sons do Q and H have ?
() 3 (2) 2 3) 1 4) 4

Which figure among the four alternatives a, b, ¢, d would replace the question mark in figure
|4V ?

o] B [ ?
1 2 3 4
@

[e] g L) | [

(a) (b) (c) (d)
(1) a (2) b (3) ¢ 4) d
Which sequence of mathematical symbols can replace * in the given equation to balance the
equation ?
T*T*2*%1=12
(1) x+ - 2) +-x 3) =+ - 4) x - X
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108.

109.

110.

111.

112.

113.

28 e HENEPoNINS® A, B, C, D e arentd 2idoshen $od). HSd 333(50 QSIS )00,
D 25508 B 877) &r(@5 D)8, A 25508 D 80k C © E7°) DD, @08, 8 oot 25Ha
©S® DB o DH)B?

(1) A (2) B 3) C 4 D

&3 Dogrg BedS®, (7) VD) S ) dogg towd ?

4, 12, 36, 108, 324, ?

(1) 520 2) 475 (3) 680 4) 972

28 DS GIug) Bodd Faren o BrddHd. X 'S GodHS®, Bod &b Doy & ?

(1 3 (2) 2 (3) 6 4) 4

K &g 8 R. K adwgy oy P Q, T adwg), So@ &udadn P odwgy s,
K 6308, 39 H. Q swdaxw H en 8050 Jodinod pidiodn SO eoms) ?
(1 3 2) 2 3) 1 4) 4

&5 (Bod a, b, ¢, d @3 e &Q)ézﬁpeej%, A8 4" DSHNS 2973, D00 Q%zﬁn@'a
&owd® ? ‘ ‘

[e] [] [] [©]

Y > [

(a) (b) (c) (d)
1) (@ (2) (b) (3) (¢ 4 (@

B0 DB Sreghn Do * wen o) Kedd Hhe HEN SHErHoDD ?
7H#THE2% =12
(1) x =+ - 2) +-x 3) ++ - 4) x - X
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114.

115.

116.

117.

118.

119.

120.

121.

A bus for Delhi leaves every 30 minutes from a bus station. The station master told a passenger
that a bus has already left 10 minutes ago and the next bus will leave at
9:35 am. At what time the station master gave this information to the passenger ?

(1) 9:20 am (2) 9:10 am (3) 9:15 am (4) 9:25 am

Surbhi is facing East. She turns 90° in the clockwise direction and moved 2 kilometers, then
she turns 145° in clockwise direction and moved 1 kilometer. Which direction is she facing
now ?

(1) North (2) East (3) North-West (4) South-East

If in a certain language 'PARROT" is written as '123345" and 'SOAT" is written as '6425', then
how would 'ROAST' be written in that code ?

(1) 34625 (2) 32564 (3) 32456 (4) 34265

Find the missing figures from the given alternatives.
15 39 45 49

YYY

(1) 28 (2) 21 (3) 11 (4) 38

Find out the pair in which the words bear the same relationship to each other as the given one.
Austria : Vienna

(1) Egypt : Cairo (2) Germany : London

(3) USA : Orlando (4) Australia : Sydney

Which of the following words cannot be formed out of the word 'CONDUCT' ?
(1) Duct (2) Counted (3) Count (4) Donut

37 boys are standing in a row. Aakash is 14 from the right end. If he is shifted six places to
the left, what is his position from the left end ?

(1) 20 (2) 18 (3) 11 4) 14

In a certain language 'FIGHT" is written as "TGHFI', then how will 'PAPER' be written in that
code ?

(1) RPEPA (2) REPPA (3) PEARP (4) PAEPR
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114.

115.

116.

117.

118.

119.

120.

121.

2,8 ) NS 0& GO BB 30 AareB) .8 2R VLB, VIS B 8 288" 10
Q0P (8BS0 2.8 23:07) 308 0B S 23Xy 9:35 am £ 2xaHen BEH BI)H. @0
2) DO DAS K96 & H588 s HIrTEHVD B0 ?

(1) 9:20 am (2) 9:10 am (3) 9:15 am (4) 9:25 am

6 Srdry HFD Brpod. e 90° JHgBIST SOA 2 8.4, B9)0B. SSS, 145°
SHEOFST BBA 8o 1 8., 39Y08. ZP esih o) HI SrRpod ?
(1) &S5Ew (2)  &Srdn (3) @raXg (4) @D

2.8 [HBE e7aS® 'PARROT & '123345' e 508050 'SOAT' % '6425' 1 %, 'ROAST' & Jor
@ ?
(1) 34625 (2) 32564 (3) 32456 (4) 34265

aégwéé DSHVOS® ‘3“865”5903326 éogpg 8 ?
15 39 45 49

YYY

(1) 28 (2) 21 (3) 11 4) 38

2V YD e3¢ ABF) D00 DB ) B°E e esd HYoHOE.
@?gjwﬁ“ : ZJO.Y)HDV

(1) =g : 56° (2) B8 : ©odS

(3) USA:ego&® (4) &9darr : by

Bod &¢35°* 'CONDUCT' $¢550 008 $a5es Bo08R He5dn o8 2
(1) Duct (2) Counted (3) Count (4) Donut

28 HKIS® 37 erendd AOBTN . H& DHS0 14 & archy ess°3. 2900 9SBHB B S
e b‘w’@ 23000, DB WOSV0G @9¢s iﬁésﬁn D8 ?
1) 20 2) 18 3 11 4) 14

258 g°S° 'FIGHT' & 'TGHFI' r (0%, 'PAPER' {0 &9 8373 (0576500 dere [@°ardd ?
(1) RPEPA (2) REPPA (3) PEARP (4) PAEPR
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122. Which character when placed at the sign of interrogation (?) shall complete the given

123.

124.

125.

pattern ?

CX

an
N

(1) DW (2) DK (3) DE (4) DL

If 'A' means '+ ', B means -, C means 'X' and 'D' means '+', then find the value of the following
equation.

16D64A4B4C3=7?
(1) 20 2) 15 3) 9 4 17

Choose the correct alternative from the options for the Assertion (A) and Reason (R)
given below.

Assertion (A) : In India, people elect their own representatives.

Reason (R) : India is a democratic country.
(1) °A’1is true but ‘R’ is false (2) ‘A’ 1s false but ‘R’ is true
(3) Both ‘A’ and ‘R’ are true (4) Both ‘A’ and ‘R’ are false

Which of the following diagrams best depicts the relationship between Table, Chair,
Furniture ?

© @ @ (o

(1) A (2) B 3) C 4 D

-00o0-
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122.

123.

124.

125.

Q oo, (7) FOH0STONVD BB 08 rd erddy ?

an
NI

(1) DW (2) DK (3) DE (4) DL

28 3¢ 'A' 908 '+, B @08 '-, C @08 'x' 805 'D' @08 '+ e0nd, &3 (Bod HabEdeadn
OB0E), Jeud ééafﬁo&.

16D64A4B4C3="

(1) 20 @) 15 3) 9 4 17

ARG HINELVOS® HOGH D (Assertion) (A) Boy s°Eedin (Reason) (R) o
Jostos. .

Assertion (A) : 27eS8$B$0S° 220en T8 TPoNZON DB 0.
Reason (R) : 2e8S@E500 2.8 [Breergog BEA0.

(1) ‘A ady s R &0y

(2) ‘A Sy s R ady

(3) Boch ‘A’ doxn ‘R’ ew a)éo})eao

(4) Bockh ‘A’ 0daXn ‘R’ ew ééo))en

Bend, £8) o HBYBe ¢y &H) D0w0GHu S (Bob & DS HBM HBoBI ?

Q) @ & @2

(1) A (2) B 3) C (4) D

-00o0 -
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7. d0E E0o0H0D, adBBed D& 2EBE BKHH QBRODIPE, A BSD VSRS °5) oo o@E
ST D6y oSNy TAS® BES A B\ D8O R0, 28 3¢ IEFE, Fowd aURABOE & )58
BH%608.

At the appointed time, when you are instructed to open the booklet by the Invigilator, open it and check
whether it contains Section “A” in the language opted by you in your Application Form and indicated on
your Admit Card. If not, bring it to the notice of the Invigilator immediately.

8. 283¢ o PHSTT e)NS BE 280 DO B AL, woff RS’ &) DAL H0KHST BLEJwdm. G
PHOD S0y0)

In case of any ambiguity in translation/construction of a question, in the version of the specified
language/s, its English version (except for the language section questions) shall be treated as final.

9. & P77 IS wEBE 36 DS’ $0e0s. SoNBD ©d) oy HoPEm KB I8 &S TS
BrEHOR.

The question paper booklet is of 36 pages. Please check and ensure that the Question Paper Booklet is
complete and contains all the pages.

10. ) BHe zarwed 8dwo OMR earen HB0S™S @°oird.

Answer all questions in the OMR Answer Sheet only.

11. OMR ezren B0 €8 {70 DS wEBEH08 &)d. WdRd) ARpdy [H7%) HB0S A Defen SrE doers®,
@8 & OMR azaren HB0 w0HOE &R, Woro FPST wr O8 arf wrd wi8® Hr@ JodHBL.

The OMR Answer Sheet is inside this Question Paper Booklet, When you are directed to open the
Question Paper Booklet, take out the OMR Answer Sheet and fill in the particulars carefully with Blue/
Black ball point pen only.

12, ($8 [8)5 SH00 a8 H)B0 WS Qb e M HeV SorHE” Joard. a8de a8 83) JEpD D)o
L0 Hend) SorHE® oD, & HHRPEHRVD eécoo})m DO5eS0RRIGOR.

Darken only one circle as your answer for each question. If you darken more than one circle for the same
question, your answer will be treated as invalid.

13. S5y dHrerdinod IS Lrdn.en BD.

There is no negative marking a%or a wrong answer.

14, OMR exmren HB0D S D, GRETS HHED D, T 1 BAHOCD, Ge° LD, b exF ABOR DNEIoLRHED.
Do not make unnecessary ‘marks on the OMR answer sheet or fold or attempt to deface it. If you do so,
your answer sheet will not be evaluated.

15. & 0z dHoren JoHE B0 OMR &° exmrenen [EPoOE Sdwo r B8 orf erd Ry B
IIBrA0TTD. NS D BT,

Use Blue/Black ball point pen only for writing particulars on this page and for writing answers. Do not use
pencil.

16. D 9 (Rough work) §°65 [H7°) D& enSBES® ard §°EE Beronod Yoos™s Barrdrd, OMR exmren HBoS”
Boavoee.

Rough work is to be done in the space provided for this purpose in the Question Paper Booklet only and
not on the OMR sheet.

17. 908 S0hd edos8o, OMR earen HB0K DEEBEHDL (Invigilator £) a)d Sharsd Hdge S HBD
SRS,
Onicompletion of the test, hand over the OMR Answer Sheet to the Invigilator before leaving the Room/
Hall.

18. & 77 HB wEBS D& Erd SWED JheH w8 D,
You are allowed to take away this Question Paper Booklet with you.

19. & 20586 ciog, 86 D. OMR  aszren 91806° 20000 86 Sras o) 918 eSS D6 &) 6 258
B0@d. @ AP HgaErgdo GND', Jowd HEFELD $HH8 B, HBGING, P IS wEBE B0
e w(Sod oS,

The CODE for this Booklet is D. Make sure that the CODE printed on the OMR Answer Sheet is the
same as that on this Question Paper Booklet. In case of discrepancy, report the matter immediately to the
Invigilator for replacement of both the Question Paper Booklet and the Answer Sheet.

20. 2 Gwg) 5 Soag (Roll Numbeny @z an§8E / OMR aaran digines® 33%05)26 Yoos” sethom 30
D& (FaNTC.

Do not write your Roll No. anywhere else except in the specified space in the Question Paper
Booklet / OMR Answer Sheet.
21. OMR exaren HB0S° SO SHpdy MBHEIR @ AFD 3 (Saren (white fluids) GHrAOBT.

Do not use white fluid for carrying out any correction on the OMR Answer Sheet.
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